1. Together Jim and Sera earn $140,000. Sera earns $10,000 more than Jim. How much do they each earn?

2. Hari has two offers as a car salesman. One of them will pay $3,000 per month fixed salary and the other will pay $2,000 per month plus a commission of $200 for each car sold in that month. For how many cars sold will the two offers be equal.

3. Find the zero of the linear function 
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4. Use the graph given below to find each of the following:

a) The x-intercepts

b) The zeros of the function
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5. Solve the equation  
[image: image3.wmf](

)

1

9000 for .

20

TII

=-

 

6. Simplify 
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 and write the answer in the  form.
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7. Solve the equation 
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8. Use the quadratic formula to find the exact solutions of  the equation 
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9. For a right triangle 
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Recall the Pythagorean Theorem that 
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Remember that a and b are called the legs and c is called the hypotenuse.

Use to the above to answer the following problem:

The length of one leg of a right triangle is 17 cm more than that of the other leg. The length of the hypotenuse is 25 cm. Find the lengths of the legs.

10. For the parabola 
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a) Find the coordinates of the vertex.

b) Find the equation of the axis of symmetry.

c) Find the coordinates of the x-intercept.

d) Find the coordinates of the y-intercept.

11. Which of the following equations
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represents the parabola
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12. The height s(t) of a stone t seconds after it has been thrown is given by the equation
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 , where the height is measured in feet.

a) Find the height from the stone was thrown.

b) Determine the time at which the stone reaches its maximum height.

c) Find the maximum height.

13. Solve the following equation and show a verification of your solution.
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and show a verification of your solution.

14. Solve the following equation and show a verification of your solution.
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and show a verification of your solution.

15. Solve the following equation and show a verification of your solution.
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and show a verification of your solution.

16. Solve the inequality 
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 and write the answer in the interval notation.

17. Solve the inequality 
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 and write the answer in the interval notation.

18. Solve the inequality 
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 and write the answer in the interval notation.

19. Match the following equations with their graphs
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a)
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b)
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c)
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d)
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20. Recall that Fahrenheit is related to Celsius by the following equation.
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The label on a medication suggests that it should be always be stored under a temperature of 
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 That is the storage temperature must satisfy the inequality
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Convert the inequality into degrees Celsius.
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